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0.90
1. 35
< > ( )
25t , 0. 45
( 1,2,3 )
#09
1 %
1m
1 m
A=12 1, 000mm




0-0087

V00O 4 0 -0046

1000 1
0-0047

1
0-0050

1

2




0-0088

V0005 0 -0047
1
#01

15

0-0048
0.134

0-0049
0.134




v0010

0

-0048

10

0-0089

#01




voo11

0

-00409

10

0-0090

#01




0-0091

V000G 0 -0050
1
#01

15

0-0048
0.674

0-0049
0.674




0-0092

-0051

0

13002
00 mm

0

100mm

1,

8§00




0-0093

v00O09 0O -0052
1
1000 1
0-0053
8. 6 m
1. 2
> ( )
4.9t 0.5
1




SG1E0098001

0

-0053

0-00914

0.010
0.076
0.021
2.7 kwh
(J1SZ3211)E4916 0.4 kg
5. 0mm
( ) 0.076
250A
#09
30 %
1 m
A=2 CODE ( kwh)




0-0095

SG1E0114002 0O -00514
1. 4
1000 1
0-0053
5. 2 m
1
1
A=3 1, 000mm B=151 CODE ( )
cC=2 CODE ( kWwh)




SG1E0100001

0

-0055

0-0096

0.019
0.038
0.019
#09
10 %
1 m




SG1E0100001

0

-0056

0-0097

0.006
0.051
0.019
#09
5 %
1 m




0-0098

-0057

0

0-0058

)

(

CODE

— N
Inn

19001
00 mm

0

100mm
( k Wh)

1,
CODE

8§00

= N
Inn
<0




0-0099

SG1E0117001 0O -0058
1.
8 . w h
1.
1
A=1 800 1, 100mm B=2 CODE ( kWwh)
C=2 CODE )




0-0100

v0o0o13 0 -0059
1
#01

15

0-0048
0.

0-0049
0.




0-0101

voo12 0 -0060
1
#01

15

0-0048
0.585

0-0049
0.585




V0014

0

-0061

0-0102




0-0103

SG1D0125001 0O -0062
1
2.400
3.000
311.000
#09
50 %
1
A=3 B=154 ( 1/ 3) CODE ( )
C=155 1/ 2) CDE MY ( m)
E=4. 3 (. m) F=131. 2 (_ m)




0-0104

SG1D0126001 0O -0063
1, 000mm 1
1. 455 145.5*0.01
1. 455 145.5*0.01
1. 455 145.5*0.01
0-00614
1
#09
30 %
0-0065
1
0-0066
1
1
A=10 ( m) B=4.3 ( m)
C=131. 2 D=157 100m 1 C ( )
E=2 F=3 1, 000mm
G=1 I =1 -
K=1.5 L=156 CODE ( )
M=156 CODE ( N¥ 2 CODE (kW)
0=2




0-0105
SG1D0126001 0O -0063
1, 000mm 1




0-0106

SG1D0126Z01 0O -00614
100
A=1 B=114. 3 L1( m)
C=31.2 2( m) D=157 100m 1 C
E=2 F=3 1, 000mm
G=1 1 =1
K=1.5 o)




0-0107

-0065

0

SG1D0126Z201

£ E
- £
N o
dJo

CODE

(

N
i
o oM

nnn
o

L=156

(

CODE

NN
non
<wo

(o)

N ©

— i
Inn




0-0108
SG1D0126Z201 0 -0066

67. 48Bwh

1
A=3 C=31.2 L2( m)
E=2 F=3 1, 000mm
G=1 1 =1 -
K=1. N=2 CODE (kWw
0o=2




SG1D0412001

0

-0067

0-0109

1.000
1.500
1.000
2.000
< >
16t 1.000
1,
1




SG1D0412002

0

-0068

0-0110

1.000
2.000
1.500
2.000
>
4. 9t 1.000
1,
1




0-0111

SG1D0412003 0 -00609
20m3
1.000
1.500
2.000
< >
16t 1.000
1, )

1

20m3




0-0112

SG1D0412004 0 -0070

1, 000mm

1.7

6. 8

#09

10 %
( /100mx

1

A=3 1,000mm B=131. 2 ( m)




0-0113

SG1D012700 0 -0071
00 3,000mm
1.000
1.000
1.000
1.000
1.000
>
4. 9t 1.000
1,
1




0-0114

SG1D0042001 0 -0072
1
0.07
0. 05
0-0073
1
#09
4 %
1
A=2 B=1
cC=1 D=1 ( ) 50mm 5m




0-0115

SGAD0042001 0O -0073
1
1
1
A=2 B=1 1
C=1 50mm 5 m




0-0116

SG1D0004001 0O -00714
900 mm m
0. 43
0. 86
1.29
< > ( )
25t , 0. 43
1,2, 3 )
#09
1 %
1m
1 m
A=11 900 mm




0-0117

V0015 0 -0075
( 2200mm) 7
1.25
1.25
2.5
< > (
25t 1.25
(1,2, 3




0-0118

1 SG1D0053002 0 -0076
( 900mm)
1 ( 900 mm) 1
3m
1
1
900 mm) 3 B=2 ] 4

o >
nou

[N Y




0-0119

V0016 0O -0077
0.
0.
0.
< >
10t 0.




0-0120

voo17v 0O -0078
0.14
0.28
0. 42
< >
20t 0.14




0-0121

v0oo18 0 -0079
0-0080
0.
0-0023
18-8-40B8B 0.
)
0-00214
1.




o>
i

[N Y

SPK19040151 0O -0080

1: 3 1 m3

0. 00% : 61. 59% : 38.41% : 0.00% 36, 083
( ) ( ) ( ) ( )

RTPCO0O00(Q2
61. 59% RTPT000(d2
B TTPC00043
25. 55% 25kg TTPT00043
TTPC0O00OO046
12. 86% ( ) TTPT00046

EPOO1

B=3 1: 3




0-0123

SG1D0039001 0O -0081
1
0.160
0.480
0.320
1,4009. 143
0.320
5. 5kW
0.320
5 20L/ minx2 9. 8 MPa
0-0082
3.348m
0-0083
2.100m
0-00814
1. 40R|L 1409.143/ 10
#09
20 %
1
A=1 2 B=0 ( m)
C=3.348 ( m) D=2.1 ( m)
E=9.864 (kL) F=7 ()]

0 (



SG1D0039001

0

-0081

0-0124

- ®

[N Y

. 748

(m)

23

(L)




SG1L0039017

0

-0082

0-0125

3.0m 0.03 m
, 41mm 0.04
40. 5mm 0.003
#06
23 %
1 m
A=2 B




SG1L0039017

0

-0083

0-0126

3.0m 0.02 m
, 41 mm 0. 03
40. 5mm 0.002
#06
23 %
1 m
A=3 B




0-0127

SG1L0039018 0O -0084
k L
, 40. 5mm .02
, 4. 9MPa, L=50mx2 , 12mm . 005
, 38 mm, 3.0mx2 .003
#06
%
k L




0-0128

SG1D0039001 0O -0085
1
0.179
0.538
0. 359
1,663.167]L
0. 359
5. 5kW
0. 359
5 20L/ minx2 9. 8 MPa
0-0082
3.614m
0-0083
2.100m
0-00814
1. 66RL 1663.167/ 140
#09
20 %
1
A=1 2 B=0 ( m)
C=3.6114 ( m) D=2.1 ( m)
E=19.958 (kL) F=12 ()]

0 (



SG1D0039001

0

-0085

0-0129

- ®

[N Y

(m)

23

(L)




0-0130

SG1D0039001 0O -0086
1
0.188
0.5614
0. 376
1, 752.0001LL
0. 376
5. 5kW
0. 376
5 20L/ minx2 9. 8 MPa
0-0082
3.877m
0-0083
2.100m
0-00814
1. 75RL 1752/ 1000
#09
20 %
1
A=1 2 B=0 ( m)
C=3.877 ( m) D=2.1 ( m)
E=52.56 (kL) F=30 ()]




SG1D0039001

0

-0086

0-0131

- ®

[N Y

(m)

23

(L)




0-0132

SG1D0039001 0O -0087
1
0.123
0.370
0. 247
693. 2501
0. 247
5. 5kW
0. 247
5 20L/ minx2 9. 8 MPa
0-0082
3.614m
0-0083
2.809m
0-00814
0. 69RBL 693.25/1000
#09
20 %
1
A=1 2 B=0 ( m)
C=3.614 ( m) D=2.809 ( m)
E=2.773 (kL) F=4 ()]




SG1D0039001

0

-0087

0-0133

- ®

= a1

(m)

23

(L)




0-0134

SG1D0039001 0O -0088
1
0.112
0. 337
0.225
620. 813[L
0.225
5. 5kW
0.225
5 20L/ minx2 9. 8 MPa
0-0082
3.877m
0-0083
2.100m
0-00814
0. 62k|L 620.813/1000
#09
20 %
1
A=1 2 B=0 ( m)
C=3.877 ( m) D=2.1 ( m)
E=9.933 (kL) F=16 ()]




SG1D0039001

0

-0088

0-0135

- ®

BN

(m)

23

(L)




0-0136

SG1D0039001 0O -0089
1
0.147
0. 441
0.294
1,325.500LL
0.294
5. 5kW
0.294
5 20L/ minx2 9. 8 MPa
0-0082
2.627m
0-0083
2.100m
0-00814
1. 32B[L 1325.5/1000
#09
20 %
1
A=1 2 B=0 ( m)
C=2.627 ( m) D=2.1 ( m)
E=2.651 (kL) F=2 ()]




SG1D0039001

0

-0089

0-0137

- ®

[N Y

(m)

23

(L)




SG1D0039002

0

-0090

0-0138

2. 2
8. 2
3. 4
0-0091
021 13
4t . Ot
1
1
A=1 2




0-0139

SM0103020 0 -0091
021 4t 2.0t 1
¢ )
0.17
. 2 4KL 5.70 L
1.00
4t 2.9t
1
1

021

or
—~

L/ )

mo >
nonon
oconmn
~
Ow




0-0140

( ) SG1D0002003 0O -0092
1 m3
2.5
3.8
1383. 00M3
-01_ 0-0093
123 _ 2 4.5
0. 8m3( 0. 6m3)
0-00914
100 m3
1
1m3 ( /7100m3)
1 m3
A=3 0. 8m3 B=2
C=5 ( ) D=217 F ( m3)
E=133 (m3/100m3)




0-0141

01 SM0102020 0 -0093

2 0. 8m3( 0. 6m3) 1
( )
0.16
, 2 4KL 16. 00 |
( )
2 1.00
0. 8/ 0. 6m3, 2.9t
1
1
A=7 123 _ 2 B=7 0. 8mB3( 0. 6m3)
C=0 ( ) D=0 (L/ )
E=0




SPK19040020 0 -0094
97.12% : 1.43% : 0.00%
( ) ( ) (
1.45% 60 80kg
51.92%
45.20%

1.43%

e




0-0143

, ) SG1E0003001 0 -0095
1 m3
0-0096
1.70
1 m3
A=1 0. 8m3 B=2 [ 1DID
C=6 3.0 D=1 :




0-01414

SM2203010 0 -0096
011 10t 1
( )
1.00
, 2 4KL 62.00 |
1.209
10t
() 1.209
1
1
A=1 011 _ B=5 10t
c=1 ( ) D=62 (LI )
E=1.209 ( I ) F=1




0-0145

voo0o19 0O -0097
3, 000mm N<5 N<30 m
0.316
0.316
0. 633
3000 1.9
-01_ 0-0098
061 _ 1.187
( 0. 6m3)
> (
25t , 0.316
1,2, 3
1
1 m




0-0146

01 SM0102040 0 -0098

( 0. 6m3) 1
( )
0.16
, 2 4KL 17. 00 L
1.00
0. 6m3
1
1
A=6 061 _ B=6 ( 0. 6m3)
C=0.16 ( ) D=17 (L )
E=1




0-0147
vooz20 0O -0099
3, 000mm 1

0-0100




SG1E0602001

0

-0100

0-0148

0.15
0.30

#09
22 %

Im




0-0149

V002 0O -0101
3, 000mm 10 m

. 85

. 85

4

3000 . 8
> (

25t , . 85
( 1,2, 3




0-0150

voo0o22 0O -0102
3, 000mm
0.17
0.17
0. 34
0-01083
021 1.33
4t .91
0-0104
14. 98
1




0-0151

SM0103020 0 -0103
021 4t 2.0t 1
¢ )
0.17
. 2 4KL 5.70 L
1.00
4t 2.9t
1
1

021

(620 o)
~
—~

L/ )

mo >
nonon
RON
=
\‘
~
Ow




SG1E0602003

0

-0104

0-0152

0.14
0.14
0.14
#09
9 %

Im




0-0153

SG1D0603001 0O -0105
m3

0. 26

0. 26

0.52
30-18-20 10. 4 3

#09

2 %
1m3

1 3

B=219 C (m3)

O >
nou

=N




0-0154

voo23 0O -0106
3, 000mm
0. 33
0. 33
0. 66
3000 2. 6
> ( )
25t , 0. 33
( 1,2,3 )
1




0-0155

Vo024 0O -0107
3, 000mm
0.23
0.23
0. 46
3000 1. 8
> ( )
25t , 0.23
( 1,2,3 )
1




SG1D0607001

0

-0108

0-0156

0.12
0.12
. Ot 0.12
1,
#09
7 %




0-0157

SG1D0608001 0 -01009
1
0.17
0.17
0.17
1




0-0158

voo0o25 0O -0110
3, 000mm
0.22
0.22
0. 44
( )
9t , 0.22
1




0-0159

V0026 0 -0111
3, 000mm 1
0.12
0. 24
( )
9t , 0.12
1




0-0160

voo27 0O -0112
3, 000mm 1
0.19
0. 38
( )
9t , 0.19
1




0-0161

V0028 0 -0113

©3000 1
©3000 4
©3000 1




0-0162

( ) SG1D0001002 0O -0114
m3
1.9
5.0
-01_ 0-0115
113 _ 2 11.1
0.28m3( 0. 2m3)
1
1m3 ( /7100m3)
1 m3
A=1 0. 28m3




0-0163

SM0102020 0 -0115
0. 28m3( 0. 2m3) 1
0.16
6.30 L
1.00
2 m3
1
1
A=3 113 _ 2 B=1 0. 28m3( 0. 2m3)
C=0 ( ) D=0 (L/ )
E=0




0-0164

(4t , 2t , )SG1E0003002 0 -0116

1 m3
0-0117

011 _ 0.50

4t

1m3

1 m3

A=2 0. 28m3 B=1 4t

C=2 [ 1DID D=6 3.0

E=1 :




0-0165

SM2203010 0 -0117
011 4t 1
( )
1.00
, 2 4KL 34.00 L
1.209
4t
( ) 1.209
1
1
A=1 011 _ B=2 4t
c=1 ( ) D=34 (L/ )
E=1.209 ( I ) F=1




0-0166

( ) SG1D0610002 0O -0118
2,500 3,000mm 4., 0m m
0.800
3.200
0.800
-18_ ( ) 0-01109
112 _ 1 0.80
0. 45m3( 0. 35m3)
-18_ 0-0120
021 _ 0.80
4t 2.9t
1
1
A=4 2,500 3,000mm
C=1 4., 0m




0-0167

- 18 _ ( SM1802020 0 -0119
12 1 0.45m3( 0.35m3)
( )
1.00
, 2 4KL 45.00 L
( )
1 1.05
0.45/ 0.35m3
1
1
A=2 112 B=3 45m3 ( 0.35m3)
c=1 ) D=45 (L/ )
E=1.05 /)




0-0168

- 18 _ SM1803020 0 -0120
021 4t 2.9t 1
( )
1.00
, 2 4KL 33.00 |
1.20
4t 2.0t
1
1
A=2 021 _ B=14 4t 2.9t
c=1 ( ) D=33 (L/ )
E=1.2 ( /)




0-0169

( ) SG1D0610002 0 -0121
2,500 3,000mm 4., 0m 8. 0m m
0.800
3.200
0.800
-18 0-0122
061 0.80
( 0. 4m3)
-18 0-0120
021 0.80
4t 2.9t
1
1 m
A=4 2,500 3,000mmB=1
CcC=2 4., 0m 8.0m




0-0170

-18 _ SM1802040 0O -0122
061 ( 0. 4m3) 1
( )
1.00
, 2 4KL 70. 00 L
0. 89
0. 4m3
1
1
A=6 061 _ B=5 ( 0. 4m3)
cC=1 ( ) D=70 (L/ )
E=0.89 ( /I )




0-0171

S0348 0O -0123
10 m3
0.490
0.980
0.490
500kg 250kg 100kg 11.4001L
:V00OO3
#09
21
10 m3
1 m3

A=113 CODE | m3)




0-0172

( ) SG1D0002003 0O -0124
1 m3
2.5
3.8
1383. 00M3
-01_ 0-0115
113 _ 2 7. 6
0.28m3( 0. 2m3)
0-00914
100 m3
1
1m3 ( /7100m3)
1 m3
A=1 0. 28m3 C=5
D=217 F ( m3) E=133 (m3/100m3)




0-0173

SG1D0611001 0 -0125
2,000 5, 000mm m

0.230
0.230
0. 460

-18 0-0120

021 0.23

4t 2.9t

1
1 m

000 5,000mm




SPK19040039

0

-0126

17.5cm 20. 0cm RC-40 1 m?2

: 4. 14% 66. 93% : 28. 93 % 0. 00% 1, 086
( ) ( ) ( ) (
< > ( ) KTPC00O018
0. 8m3( 0.6) 4. 12% KTPT0O0O01S8
( 1,2, 3 ) 0. 8m3( 0. 6m3)

( ) ( ) EKOOO
RTPCO0O0O0Q2
34, 84% RTPT000Q2
RTPC000Q1
15. 16% RTPT000Q1
RTPCO0O00Q9
8. 62% RTPT000Q9
( ) ( ) RTPCO0O0O0Q6
7. 85% RTPT000Q6

( ) ( ) EROO0O9
TTPCOOOQS8
40 Omm 26. 51% RC- 40 TTPTO000QS8
1.2 TTPCOOO113
, 2 4KL 2.41% TTPTO00O0113




SPK19040039

0

-0126

0-0175

o>
i

BN

17.5cm 20. 0cm RC-40 1 m?2
: 4. 14% 66. 93% 28. 93 % 0. 00% 1, 086
( ) ) ) (
( ) ( EZO0OO
EPOO1
17./5cm 20.0cm B=1 RC-40




0-0176

SG1D0038001 0 -0127
50m2 m2

3. 45
6. 90
3. 45
3. 45

B H( ) 0-0128

0.28m3( 0. 2) 1.7 3. 45
( 1,2
#09

9 %

1m2
1 mQ2

A=1 0. 28m3 1, 7t B




0-0177

) SM2800007 0 -0128
0.28m3( 0.2) 1. 7t (1.2 ) 1
( )
1.00
, 2 4KL 41.00 L
> )
0.28m3( 0.2) 1.7t 1. 64
(. 1,2,3 )
1
1
A=1 0.28m3( 0.2) 1.BE1 ( 7 )
C=41 (L/]|) D=1. 64 ( I )




0-0178

O >
nou

[6) 8]

SHD10015 0 -0129
1 m2
1. 00MmM2
1. 00MmM2
1
1 mQ2
) B=2




0-0179

SHD10017 0O -0130
700 m2 m2
) H
H-250, 71.8kg/ m 0. 134t
90 (3 )
( ) 0. 134
1
1 mQ2
A=2 H H-250, 71.8kg/ m B=2
C=58 ( )




0-0180

SG1D0038002 0 -0131

50m2 m2 1
0. 44
0. 44

) 0-0132

4t (2.9t ) 0. 44
1
1m2

1 m2 1




0-0181

( ) SM2800017 0 -0132
41 (2.9t ) L
( )
1.00
2 4KL 38.00 L
( )
4t (2.9t ) 1.23
1
1
A=1 4t (2L 9t ) B=1 C 1 )
c=38 (L) D=1.23 ( I )




SPK19040309 0O -0133
15cm 1 m
6. 42 % 53.37% : 40.21% 0. 00% 547
( ) ( ) ) (
MTPCO0O0O0H6
4., 34 % MTPTO0O00H4H6
20cm 56cm 20cm 56cm

( ) ( ) EKOOO9
RTPC000Q1
18. 48% RTPT000Q1
RTPCO0O00Q9
9. 59% RTPT000Q9
RTPCO0O0O0Q2
8. 00% RTPT000Q2

( ) ( ) EROO0O9
TTPCOOO115
37.36% TTPTO0O0O0115

56cm(22 ) 56cm(22 )

, TTPCOO0OO014
, 1.93% TTPTO00014

( ) ( ) EZ0O09




0-0183
SPK190403009 0 -0133
15cm 1 m
6. 42% : 53.37% : 40.21% : 0.00% 547

( ) ( ) ( ) ( )

EPOO1

m >
i

[N Y

B=1 15cm




SPK19040309 -01314
15cm 30cm
12, .42 % : . 58% 0. 00%
) ( ) (
( 8. ( )
30cm 75cm 30cm 75cm
( ) ( )
13.
6 .
5.
( ) ( )
22.
75cm( 30 75cm(30 )
15.
56cm(22 56cm(22 )
9. 14

35cm(14




SPK19040309 0 -0134
15cm 30cm 1 m
12. 00% : 38. 42% : 49, 58% : 0. 00% 1, 345
( ) ( ) ( ) ( )

, TTPCOO0OO014
, 1.97% TTPTO00014

( ) ( ) EZ0O09

EPOO1

A=1 B=2 15cm 30cm

E=1




( ) SPK19040018 0O -0135
1 m?2
24.57% 67. 61% 82 % 0.00% 1, 467
( ) (
( ) ( ) MTPCO0O0077
2 24. 57% 2 MTPTO0O0077
0. 13/ 10m3 0.13/ 0. 10m3
( ) ( ) RTPCO0O00(Q6
67.61% RTPT000(Q6
1. TTPCO0OO0OO0O13
, 2 4KL 7.82% TTPTO00013
EPOO1




SPK19040148
k

( ) DI D 3.0km (2. 5km )
20. 75% : 69. 90% : 9.35% : 0.00%
( ) ( )
[ ] [
2t 20. 75% 2t
( ( ) ) (
( ) ( )
69. 90%
1.2
, 2 4KL 9. 35%
A=2 B=5 (
C=2 DI D D=15 3.
E=1

N~




SPK19040235 0O -0137
100mm 1 RC-30 1 m?2
: 6. 39% 69. 63% : 23. 98% 0. 00% 691
( ) ( ) ( ) (
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DX P AIE = L= 135.850 m m  + m  + = 135.850 m m 135.85
HEHE AL R L= 135.850 m 3.10m — 1.53 m = 131.220 m m 131.22
EIER L= 135.850 m 1.1I0m - 0.75 m = 134.000 m m 134.00
EAT BRI R L= 134.00 m 131.22 m = 2.78 m m 2.78
HEE A U 1=2.43m  |n= 1fE70N GJCHEF AW2 = N N 55
4 1=1.20m n= 1FE70N GJCHETF AW2 = %N %N 1




Ve e T %8 E R (2/3)
R ORREHEE TiE JedRsX ¢ 1000
i il gl H B E A WAL | &
ORPEET At L= (F¥)) B & 6.6 m/H m 131.22
d= 131.220 m =+ 6.6 m/H = 19.88 H ¥ 5.9+0.9
d= m = m/H = H
d= m = m/H = H
d= m = m/H = H
d= m = m/H = H
L= 131.220 m 6.6 m/H (AU FH)) Yd= 19.88 H
HUNTERET L= m 131.22
Kl V= 108.8 L/m X 6.6 m/H = 718.1L/H
e FEJE /K V1= T /4 X ( 1.200 m 0.035m X 2)2 = 1.267m°/m
B EE TR AR IEAE =1{0.340.3X0%+0.7X0% 2} X100= 30% — 50% +++ [14P.228
V2= 1.267 m*/m X 50 % = 0.634 m*/m
V= 0.634 m*/m X 6.6 m/H = 4.184 m%/H
Kt W= 240.0 kg/m’
HERGRF W= 1.8 kg/m’
H &t W= 10.0 kg/m’
7k W= 891.6 kg/m’ -+ FIAP.228
HUAMERT L= m 131.22




e A HE T % B e s % (3/3)

g il
fl il 0 H B E X HiL | K &
5 HALER V= 7 /4 X 1.200 m™2 X 131.22 m = 148.406 m®
) & V= 7 /4 X 1.270 m™2 X 131.22 m = 166.225 m®
T T VR K B V= 0.634 m*/m X  131.22 m = 83193 m’
OCHRD50% Y4 5 -V=(  166.225 m* —  148.406 m’> )X 50 % = -8.909 m®
RAH G V= = 39%m’
YV= 244.459 m® m® 244.5
FEETAEP. 265, aw RN TEHSEREY
HIAD L= m 131.22
FEAM & V= 43.5 L/m X 69.0 m/H = 3,002./H
B HHh n= 56 A — 1 f&Pr = 55 | fEPT 55
& EEN [FAGE R GHEMES R -F 1R FK-) CERTHERE | AAHEN AR TAGEHS)
R T E [FKE AR EH R SE & M hEa% (MEME T35) -1 (Q0124E i, A AERIEAN B AR FAGEHS)
JEIRE [HEME TR R A e el AHEdE TyEfm ) (20134EEETRR., A% HEFE AN B ARHEME I H2)




NN B fi XL kR EEE (1/1)

PR DS HEE T PRl ¢ 1000

fi Bl Al H R E o HAL &
Bkfth= 7Y — Mg
Bkifh = 7Y — MERSEHEE HEE T CRE L A

EAp= 7V —NEAER T ¢ 1000mm HEE T CEF m




RV X o— E

®OEE¥E L & HE TR

1/1

PR DS HEE T PRl ¢ 1000

gl M A 5 & Wi | % R
R E —E &
Y — R i 7
RS BT L
AV () P81 T fi#1
L — BT B




e fm L (¥ & X H#E & ) % ' 5 & %

(1/2)

PR DS HEE T PRl ¢ 1000

T il i H B E = AL iy
X EEE % AT
I — ARSI & T
O T LA T RE—EH % AT
FlEHi A L ST
v T & T
HEOUIMIEE L= 9.0 m =
BEOUIMIIEE L= 9.0 m SA4F—7L—h t=2.7mm
HEE RS R A % AT
Ty Ry R R A EE T AT
ERS EHZ A % AT
ZEEE W= 0.59 t < aw R LIERSEFRIP.145




e owx i (e e X H# ) % ' B oE % (2/2)
R AR HERE TIE iR ¢ 1000
il Gl il H B iE X HAL &
i 1 B A =
Jim B Gy B H ¥ BT R TR R EEP.147 =)
e V= m’
s A AL V= m’




W E - B A R L & &8 E % (1/1)
PR DS HEE T PRl ¢ 1000
T il i H B E = AL iy
A B AR I 2V
L1= 20 m
H= 227Tm — -2.058 m = 4.328 m
HEEAER= 131.220 m
L= ( 200m + 4328 m + 131.220m )X 2 311.096 m
PR i 2V
Lk= 10 m
H= 227Tm — -2.058 m = 4.328 m
L1= 0m + 4328 m -+ 100 m 114.328 m
2= 131.220 m  — 100 m 31.220 m
L= 114.328 m  + 31.220 m 145.548 m
L1+12+2=  114.328 m -+ 31.220 m  —+ 2 129.938 m




%o PR R OB R OE # (1/1)
PR ABEHEE T IR ¢ 1000
i Al il H c E = WAL | H &
VA AR T L :
W Ve BE -5 g L s |
TR AR B S T 20m3 i :
BN S T L= m 131.22




EON R L KRB E R (1/1)
PR DS HEE T PRl ¢ 1000
T il i H B E = AL iy
HEA G % AT




HE 8 K T % & 85 ® % (1/1)
PR DS HEE T PRl ¢ 1000
T il i H B E = AL iy
HE A FH AkoRE =




M-2PN ¢ 900mm & Aii #% L. Hir%
# B~ I
T fl~r2) BEXT ¢900mm A FEHERE T35
Bl ARl = HAL &
(L~13) (L~14)
X AL m 5.45
HEMESE K m
BRI m 2.10
SEHTN AR A% L
= 7 — Mg 1 %1 N 2
PR 7Y —MEARR L m 2.10




M-2WN ¢ 900mm EAF X L. % & & & # (1/1)
HROR OREHEE TIE ¢ 900
T il i B E = AL iy
X [HIIE & L= 2.500 m 2.95m -+ m + 5.450 m m 5.45
HEEIE L= 2.500 m 2.50m — m m
L= 2.950 m 2.95m — m m
>L= m m
BIRIER = 2.500 m 0.75m - 0.75 m 1.000 m
L= 2.950 m 0.75m - 1.10 m 1.100 m
SL 2.100 m m 2.10
EAIE R [= 2.10 m m 2.10 m m 2.10




L % oBH T X

(1/2)

HROR OREHEE TIE ¢ 900

B 7V —NEMR T

¢ 900mm

f& il Al H 5 iE X HfL i
Befg=a 7)— g
g 7V —NEMEHR EE L=1.20m n= * 9
m 2.10




FAST 5B~ AR— LT ek
# A1) i
T fl~Lr2) < R —)L T
=l Al o = HAL &
(L~ 3) (L~r4)
FANL -~ AR— VT
FSI5 R~ AR—L
e ¢ 600 il
kil i
k- U H=100 1
FHEE 1% H=450 &
BB 1% H=1500| &
AR 5% R i
R BE 5% H=2100| f#
JEEhR 5% i
HEMEF /T EHHKTF HP ¢ 1000/ | f#
I FLE HP ¢ 1000H | f&AT
M~ AR—AREL 55 TmEA T | EAT




A o— v LR R OE K

(1/1)

M5 R AR —L

i Al gl ) E =X BT &
M-1
BE ¢ 600 n= 1 # + L+ HH. .
AR H n= 1A+ "+ 18 i
Y7 H=100 n= 2 @ + # + 1l 1l
RLEE 175 H=450 n= 1 + &+ 1E 1E
[IERES 15 H=1500 n= 1 + &+ 1E 1E
AR EE 5% IR n= 1A+ "+ 18 i
B U RE 5% H=2100 n= 1 + &+ 1E 1E
JEEAR 5% n= 13 + |+ i 1
HEVE ] wT &k HP ¢ 10004 n= 2 8 + &+ 1E 1E
il L2 HP ¢ 1000 n= 1 f&ph + f&F + & T & BT
FNE~ AR — VBT |55 TmPAF n= 1 f&ph + & + & P & BT




FHNZFE R (150008) <> AR—/L L ek
#  H@E~1) I
T FEl~r2) ~ =V T
Bl Al = HAL &
(L~13) (L~14)
NI R~ R— L T
7 (150008) <> h— 1
P& ¢ 600 el 2
kil H=45mm I 2
AT H=100 I 1
RIEE 15 H=450 I 2
[ELEE 15 H=900 I 1
[ELEE 15 H=1200 | {& 1
TER 7 vy b3 & 2
W7 ays B H=900| 1
BETT ey @R H=1200  {# 1
W7 ays B H=900| 2
HEMEF /T EHHKTF HP ¢ 1000/ | f# 1
ALK HP ¢ 900 1 3
JEC I T
FaeE L 2L m® 0.1
P ) —h m® 0.6
TP m® 1.3
M vrR—LRET 15 3mPLF| @i 2
THR T my 7 E Y 1 2
BT 7 oy ZHRRE st 1 1
BT vy THERE w20 1 1
BHA 7 vy ZLERE w100 1 )




[

yoR - oy To# R R OE R

(1/2)

57 (150002) <> h—/L

i Al gl H ) E =X BT &
M-2 M-3

P ¢ 600 n= 1+ 1 # + il = K 2
A e H H=45mm n= 1A+ 1A+ 1 = 1 2
Y7 H=100 n= 1+ # -+ &) = 1 1
RHEE 15 H=450 n= 1A+ 1A+ 1 = 1 2
[IERES 15 H=900 n= 1 fa + &+ 1E = 1 1
JELAE 1% H=1200 n= |+ 18 + 1 = 1 1
HR T 2y ” TN n= 18+ 18+ i = 1 2
RN A= T H=900 n= |+ 1+ i = 1 1
RN A= HF H=1200 n= 18 + i+ 1 = 1 1
RN PA=S i 1=900 n= 183 + 183 + 1 = i 2
HELE T AT EOMETF HP ¢ 1000 n= 1A+ H -+ 1 = & 1
AI LT HP ¢ 900 n= 1A+ 2 8 + 1 = 1E 3
JEEHT T
TV V= 1.80 m X 1.80 m X 0.02 m = 0.066 m° | m’ 0.1
P ) —b V= 1.80 m X 1.80 m X 0.18 m = 0583 m' | m’ 0.6
Al A= 1.80 m X 0.18 m X 4 = 1.296 m° | m’ 1.3




MM~ R — L R R E R (2/2)

57 (150008) <> A—L

i Al gl H ) E A &
M-2 M-3
S A — LR E L |15 3mPA T n= 1 f&p+ 1 f&F+ & AT
THR 7 vy VR & SHIA n= 1 & + 1 & + 1E
BT vy 7 HE HIE H=900 n= |+ 13 + 1
B 7 oy 7HER E HJF H=1200 n= 18 + M+ 1
BT a3k HIE H=900 n= 13 + 13 + 1




M-1 2 # 2 1 LT e
# A1) I
T fEQl~r2) ST M-1 F8HESTHT g8 — 07K ¢ 3000mm  H=5.010m
=l Al o = HAL | %% &
(L~13) (L~14)
BT
BRI RL ary)—h m® 6.6
fg A+ m® 13
A T ALER A ALY T m® 46
Ry —o o 7 R TR O T
L — o 7 TR AR JE NS HIFEA 22 T m 6.46
E¥Ja=1.9hr/m
= TYRBET & A 2
PR =9.4m/ & T
=75 BIF T m 1.20
= AT & FIT 1
r—yr 7 gk T m 14.99
JEfE=a L 7Y —h JEAR D7) — MR L m® 10.6
30-18-20(25)
JENH IR G PR B2 T [ 1
PR B - P RR 1 T [i] 2
PR — 7 N 1 1
i — s m 5.40
AT t 2.98
Rk — v 718 E20 1
SEHTHEAK DIIKHEAK L & AT 1
PEoK E L AT A DAL T & AT 1
TekaLsy T m® 2.8
VU ¢ m® 2.8
M E%E TAR M7 TARGR & T & AT 1
MR TR T & AT 1
M58 TABA A T (BB
M58 TR k5 =X 1




M-1 ¢ # 72 YT T % & & & * (1/5)

¢ 3000mm”7—3 > MR H= 5.010 m
i Al MoH B E X HAL | # &

DAZRES H= XL m 5.010
A& H= AEIEREY m 6.460
B H= XL m 0.110

=37 $3000mm SN —v v s (L= m 2.30
=7 L= m 2.30
=7 L= m 0.80
Rxr—r7 L= m 2.50
Hoe ML -8 2 E e i 1
BT~ &
= 7fFEE = L1+ 12+ L3 m 5.40
ATr—s 7 H= 540 m  + 2.50 m m 7.90
Rir—s 7 H'= m 2.50
mYVEE W= 1.639 t/m (fif#tP.1-123)
m*Y 0 W= 0.1727 t/m*  (Fi$E#HP.1-123)
A H & W= 790 m X 1.639 t/m t 12.948
i A W= 2.50m X 1.639 t/m t 4.098




M-1 3 i 7 5T T % & &5 & % (2/5)
¢ 3000mm”7—3 > MR H= 5.010 m
i Al MoH B E X HAL &
+T R B 0.05 m HIRELE+EARE = 0.25 m
AT I (e YD) BHF-f#0.6 V= m X m X( m - m - m?
V= n /4 X 3.00 m2 X( m  — m = m®
2 V= m® m’
JEAH V= n /4 X 3.00 m2 X 6.460 m = 45.663 m°
R H £ & TV= m 45.663 m° = 45.663 m°
HRL ESN V= r /4 X 3.00 m™2 X 2.692 m = 19.029 m°
a7y —k FRNH —1 V= r /4 X 1.772 m’2 X 1.600 m = 3.946 m°
R A -V= /4 X 2.580 m'2 X 2.692 m = -14.074 m°
PEBR -V= n /4 X 1.200 m'2 X 0.210 m = -0.238 m°
FEBR -V= n /4 X 1.200 m'2 X 1.810 m = -2.047 m’
Pers -V= r /4 X m2 X m X = m”
X TEMR EEE T2 27— THD R V= 6.616m° | m’ 6.6
HEERL EEXEN V= /4 3.00 m'2 X( 2.318m  — 0.250 m = 14.618 m°
BEA e KA -V= /4 1.06 m™2 X 1.500 m = -1.299 m*
PEBR A -V= 7 /8 X ( 1.05 m2 + 0.82 m2 )X 0.450 m = -0.314m’
FEBR : KK -V= n /4 X 0.82m2 X(  0.368m — 0.250 m = -0.062 m*
V= 12943 m’ | m’ 12.9




M-1 % i S7 HT T % & FOE % (3/5)
¢ 3000mmA”r—3 SEHUE H= 5.010 m
fl il o H B E = B | % B
5 HALER A AL T V= 45.663 m® — m’ - 0.90 = 45.663m’ | m’ 45.7
JE R EIFEIA A T ® 3000mm 1m Y VA fE TR a m 6.460
HALREM O EEO OxX@
(20115ZH1#RP.153) it | N=5 1.9 KFE/m 2.150 m 4.085
C ) Bt |5<N=30 2.4 FFR/m m
C v ) WE 1 | N=30 1.9 B#fE/m 4.310 m 8.189
C ) WE -+ |30<N=50 2.4 BERH/m m
C v ) BB+ | N=30 2.0 FF[E/m m
C ) B 1 30<N=50 2.4 FFR/m m
HFE/m m
it 6.460 m 12.274
FHa = 12.274 + 6.460 = 1.900 hr/m 1.9
= TR T ¢ 3000mm AR = 9.4 m/fEFF (2011575 T#mP.155) & A 2
r— 75| L ¢ 3000mm m 1.20
= T ¢ 3000mm & P 1
r— YT = 1.500 m  — 0.110 m = 1.390 m
L= n X 3.00m  + 1.390 m X 4 = 14.985 m m 14.99




M-1 3 6 2 HL 1L % & % * (4/5)
¢ 3000mmA”—3 > SHIE H= 5010 m
fl il o H B E X HiL | K &
JE RC-40,t=20cm  |A= m® m?
A7) —h 30-18-20(25) V= (201 1 7 HHRP. 147) m’ 10.6
BEAR R B T ¢ 3000mm ] 1
FEAR R RE - PR R E T ® 3000mm Tl= = 1.40 hr
T2= 6.460 m X 1.9 hr/m = 12.27 hr
T3= 18.8m X 0.1 hr/m = 1.88 hr
T4= 10.6 m* X 0.2 hr/m® = 212 hr
T5= 1.20m X 0.5 hr/m = 0.60 hr
>T= 18.27 hr
n= 18.27 hr —+ 8hr = 2 [A] [=] 2
AT A LT ¢ 3000mm & AT 1
KLy T V= (201 1 \ZHL#RP.166) m? 2.8
MBS TG E L ¢ 3000mm & P 1
MEE TAREE T ¢ 3000mm P )
MEsE TABHRA T $ 3000mm n= ] fia




M-1 3 i 7 5T T % & &5 & % (5/5)
¢ 3000mm”7—3 > MR H= 5.010 m
i Al i B E X HAL | # &
PRSI N EH # r—y7 W= t 12.948
BT W= t
FAUIED W= t
M7 W= t
izl W= t
PRAS R H R =7 W= t 4.098
BT W= t
FAUIED W= t
M7 W= t
Wiz \F W= t
AIFG9T r—=7 W= 1.639 t/m
W= 0.1727 t/m”
flot: W= ( 1.500 m — 0.110 m )X  1.639 t/m = 2278 t
10 :HP ¢ 1000/ |W= n /4 X 1.300 m2 X 1 f6F X 0.1727 t/m° = 0.229 t
BEON0 ARNE —E ] (W= r /4 X 1.872 m2 X 1 fF X 0.1727 t/m° = 0.475 t
X BB MbemD R ES JE SW= 2.982 t t 2.982




M-2 & # S it L 3t

# A1) I
T fE(L~r2) SEHLT. M-2 BENIHLT. A —7L—h[5090 X 3049mm  H=4.027m
(| Al o = B | B &
(L~13) (L~14)
BT
=gl vz i ANyZRHEEl | m? 27
A AL ER A ALY T m® 86
FAF =T = LB TR OLT
HARZL 7 —] av7Y—hL AJETER m® 1.4
AT m? 9.3
HiEmEEEL  EHEEY | m° 1.4
TAF—7 L —MEH & m 4.68
FAF—FL—MEE] 8 T
1 3049mm BH
R K ORGP+ m 4.30
% 3049mm CS ¥E8miz
R+ K ORGP+ m 0.38
779N m? 5.2
TAF =T — R Btk ABRR T m? 46
FAT—T L —MiE L m 0.62
TAF =T —hK SARM R B T t -
TFAF =T —MFiE TAF T —h m 3.50
LN US4 6
FAFT—T L —h R ERE | BR EE t -
AT T t 0.445
SEHURERE T a7 —h m® 2.3
Hepsea T t=200mm m? 16
B T A T
T UM B T HTRR R T | HEEENT HT50m2 8L m? 35
a7y —hL YNVEIE m? 0.3
TP T m? 1.2
HEIEUEL I i A ) m® 0.3




M-2 B 2 . YT L. % & & & # (1/8)

(15090 X 3049mm7 A+ —7L —h SEPLE H= 4.027 m
i il M H B E A HLAL &
ESPERERT:] R 0.25 m 18 P Al e+ R AR R = 0.60 m As 5-5-5-10-15-20
B A R 0.06 m 18 Pl e+ R AR R = 0.24 m IRB 6-3-10-5
B
MYURHI T Sy 7 ARTHRH| V= 12.90 m\*> X(  0.900m — 0.25m ) = 8.385m’
V= 22.10 m*> X( 0900 m — 0.06 m ) = 18.564 m°
V= 26.949m’ | m’ 26.9
PR R T V= r /4 X m2 X( m — mo) = m®
V= 5270 m X 3.229m  X( 437Tm  — 0.900m ) = 59.168 m°
YV= 59.168 m°
A4 e A T V= 26.9499 m° +  59.168 m’ = 86.117m° | m’ 86.1




M-2 B 2 7 5T L % & H & % (2/8)
(15090 X 3049mm7 A+ —7L —h SEPLE H= 4.027 m
& il Mmoo A E 20 HLAT &
HARa 27—k
ar7Y—h T NTIHTRR V= 5090 m X 0.30m X 0.30 m X = 0.916m°
V= 3.649m X 0.30m X 0.30m X = 0.657m°
-V= 2.345m X 0.20m X 0.30 m = -0.141m°
V= 1.432m° | m’ 1.4
IR T. A= 5690 m X 0.30 m X 2 = 3414m°
A= 3.649 m X 0.30 m X 2 = 2189 m°
A= 5.090 m X 0.277 m X 2 = 2.820m°
A= 3.049 m X 0.277 m X 2 = 1.689 m°
-A= 2.345 m X 0.30 m X 1 = -0.704 m°
-A= 0.200 m X 0.30 m X 1 = -0.060 m°
A= 9348 m° | m° 9.3
RS BUEL S ) V= a7y —hLEFT = 1432n' | m’ 1.4




M-2 B 2 7 5T L % & H & % (3/8)
(15090 X 3049mm7 A+ —7L —h SEPLE H= 4.027 m
i il Mmoo A E 20 HLAT &
IAT—7 L —MEKE
B AR T V= 5.090 m X 3.0499m  X( 347Tm — 0.35 m 48.529 m®
V= 12.90 m®> X(  0.900 m — 0.60 m 3.870 m”®
V= 22.10 m> X(  0.900 m — 0.24 m 14.586 m’
eI M-28 K -V= 180 m X 1.80m X 2.420 m -7.841 m’
PEBR M-237 1Y |-V= r /4 X 1.05m2 X( 1.607m — 0.60 m -0.872 m°
PERR : M-231 -V= r/8 X 1.200 m2 X 0.625 m -0.353 m°
PERR : M-231 -V= 150 m X 1.000 m X 0.625 m -0.938 m°
e M35 K -V= 180 m X 1.80m X 2.280 m -7.387 m°
PEBR M-337 1Y |-V= r /4 X 1.05m2 X( 1.79Tm — 0.24 m -1.348 m”
e M35 -V= r/8 X 1.050 m2 X 0.700 m -0.303 m°
PR M-33 -V= 1.35m X 0.955 m X 0.700 m -0.902 m®
PERR M-33EA V= n/8 X 1.050 m’2 X 0.630 m -0.273 m*
PERR M-3HEA |-V= 1.35m X 0.986 m X 0.630 m -0.839 m®
V= 45929 m’ | m’ 45.9
FAF—FL—MEET | 3049mm L= 1500 m  — 0.877 m 0.623 m m 0.62




L.

M-2 B 2 7 5T L % & H & % (4/8)
(15090 X 3049mm7 A+ —7L —h SEPLE H= 4.027 m
i il Mmoo A E 20 HLAT &
FAF—7L—hEYI 5
FAF—7 L —MMiEE ¥ T | #lisRY 7
HEE 3049mm BH WE R OEE T | 1= 3.100m  + m  + m  + 020m X 6 4.300 m m 4.30
s L= m + m + m + 0.20m X m m
O L= m  + m  + m  + 0.20m X m m
HEE 3049mm CS ESmiZ W + K Okt £ L= 0.377m  + m  + m 0.20m X 0.377 m m 0.38
s L= m + m + m + 0.20m X m m
O L= m  + m  + m  + 0.20m X m m
79T V= 5270 m X 0.090 m X 3.477Tm X 2 3.298 m”
V= 3.049 m X 0.090 m X 3.477Tm X 2 1.908 m*
V= 5.206m’ | m’ 5.2




M-2 B 2 3 HL L ¥ & 5 & £ (5/8)
(15090 X 3049mmZ A F—7L—h SEHUZE H= 4.027 m
T bl wmoB B iE E2V L &
FGAF—F L — AR H-250X 250X 9 X 14 W= 0.080 t/m
H-300X 300X 10X 15 W= 0.100 t/m
H-350X 350X 12X 19 W= 0.150 t/m
H-400X 400X 13 X 21 W= 0.200 t/m
IERMERERE T THEG: W= m X P NI t/m =
JEREL W= m X KX t/m =
JEREL W= m X KX t/m =
)42 W= m X . D t/m =
)42 W= m X X X t/m =
EEES B > W= ©)
B R (A) W= t X 22 % = ®
B R (B) W= t X 4 % = ®
XM BE w= O+0+0® S W= t
SR E S w= O+©®@ > W= t
FAF—T L — N EE FSAFFL—k m 3.50
VLN N4 6




M-2 B 2 . YT L. % & & & # (6/8)

(15090 X 3049mmZ A F—7L—h SEHUZE H= 4.027 m
il bl MoH ) E 2y WAL | M &
SEHUAERE T
HfEar 27—k N FT#% V= 5.090 m X 3.049 m X 0.15 m = 2328m’ | m 2.3
FEREea T t=200mm A= 5.090 m X 3.049 m = 15519 m* | m® 15.5
BT
TR T MR e T | HEE N HT50m2L T | A= 7.00 m X 5.00 m = 35.000 m* | m® 35.0
2 7)—R T NIFT#% V= 7.00 m X 0.25 m X 0.10 m X 1 = 0.175m’
V= 3.95 m X 0.25 m X 0.10 m X 1 = 0.099 m®
V= 0.35 m X 0.25 m X 0.10 m X 1 = 0.009 m’
YV= 0.283m’ | m’ 0.3
Fpe T A= 7.00 m X 0.10 m X 1 = 0.700 m*
A= 3.95 m X 0.10 m X 1 = 0.395m°
A= 0.35 m X 0.10 m X 1 = 0.035m°
A= 0.25 m X 0.10 m X 2 = 0.050 m°
YA=  1.180 m®* | m® 1.2
REE Y EUE L AR TS V= a7 —RLEAL = 028m’ | m’ 0.3




M-2 B 2 . YT L. % & & & # (7/8)

[J5090 X 3049mm 7 A+ —71L —Fh

SHE H= 4.027 m

& il oA i E 20 WAL | M &
27Ty FAF—71—h W= 0.578 t/m
W= 0.036 t/m”
L& W= ( 1.500 m  — 0.877m )X  0.578 t/m = 0.360
H50 :HP ¢ 1000/ |W= r /4 X 1.300 m2 X 1 i X 0.036 t/m” = 0.048
$5110 :HP ¢ 900/ | W= r /4 X 1.150 m’2 X 1 fH X 0.036 t/m” = 0.037
insIUR W= X m'2 X 5 X 0.036 t/m” =
X OB MBemDRIEEH E YW= 0.445 t 0.445

(e T 9 FH R G R R Al HEAE TR SZ O ) (201 LAEDGT I, A2 ERAE N B ARHERE B AfT 4 23) P.130

FAF—7L—F2.7mm

FA4F—JEE (5.090 X 2+3.049 X 2=) 16.278m} %, P-10# (0.785m /K. 26.0kg/#r) T20. 7472 DT, 538kg

NN

TA T —EE16.278mlE, EA2.0m L HIHAE (15.3kg/m) T2.6{%F72D T, 40kg

Im¥*Y

W’ =538+40=578(kg)

1m*24 Y

W’ =578-+-16.278=236(kg)




M-2 B 2 3 HL L ¥ & 5 & £ (8/8)
(15090 X 3049mmZ A F—7L—h SEHUZE H= 4.027 m
fl il oA B E = B | % B
SR A B & FAF—FL—h W= 0.578 t/m
W= 3.50 m X 0.578 t/m = 2023t t 2.023
LBV H-150X 150X 7 X 10 W= 0.0311 t/m
W= 5.090 m X 12 K X 0.0311 t/m = 1.900 t
W= 3.049 m X 12 K X 0.0311 t/m = 1.138°t
YW= 3.038 t t 3.038
BT = 0.200 t/m”
W= 7.00 m X 5.00 m X 0.200 t/m* = 7.000 t t 7.000
AT H-350 X 350 X 12X 19 = 0.150 t/m
W= 5.00 m X 3% X 0.150 t/m = 2950t t 2.250
iz H-250 X 250 X 9 X 14 W= 0.080 t/m
W= 11.30 m X 15 X 0.080 t/m = 0.904 t t 0.904
SRS B HH B TR W= WA ERICFEC = 7.000t t 7.000
AT W= AEEICET = 2250t t 2.250
iz W= A EEIC[EL = 0.904 t t 0.904




HEFEAN(CHEAN —F T3 HEGTR) M3
# HQO~L) i
T FE(L~r2) STHLT
(Il Al o= W7 =)
(L ~r3) (L~ 4)
fiBh gL B T
FEWIEN
(M-1 F&HESTHT FURAET O ) RIREAT “EEAN—F-BahR | R 7
N= 6.2 Ll=
b= 2 12=3.35
Qs= 1,410  L3= 2.10
(M-1 F$HESTHT BP0 O BEEEAT “EEAN —F - BR | R 12
N= 56 Ll=
b= 2 L2=3.61
Qs= 1,663  L3= 2.10
(M-2 B3N HT (BRI D) [ BREAT “EEAN—F AR | A 30
N= 53 Ll=
b= 2 L2=3.88
Qs= 1,752 L3= 2.10
(M-2 BT HT (IBEE D)) [BREAT “EEAN—F AR | A A
N= 6.7 Ll=
b= 2 L2=4.99
Qs= 693 L3= 2.81
(M-2 BIFESEHT EEARED)  |SGREAT —EEAR — A | A 16
N= 8.9 Ll=
b= 2 L2= 3.88
Qs= 621 L3= 2.10
(M-2 BIEENL BT BT M) [SREEAT —@EEAh—F - HsR | A 5
N= 6.8 Ll=
b= 2 L2= 2.63
Qs= 1,326  L3= 2.10
TEABAR A A T (L) | Bl 2

N:1H40jE TASCR/R)

b:fii THEE(H)

Qs: 1A EAE (L/A)

L1: B8 387 AL (m)

L2: W8 +#87 HIFLE (m)

L3 KM 58 I AL (m)




Z“EEXAN—F(BEHE) I

*2 LyhEIRELT D

A=CADHIE
M-1 R TR0 [BIEEA= 681 m?)
[(1RLYFIAE Qs= 1,410 (L/K)]
[EZAR#E n = 7 (F)]
1AREY 1EHY
&R FEAE | HOEAE | HBER Hill FLEF P FEAZE | EARR | WY | IR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE MED) as=18(L/%}) T +T,
Lo N{E L o v A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)] T,(5) | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(RH)
5.448 3.700 10| 25197 9.864 14 25.1 1,410 78.3 35 121 6.2 1.1
0~ 4 2.100 14.301 385 5.506 |HERFEED. 787 43.7
L 2.100 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&HRAEAT. 4.0 8.4 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E k%, 0 0.0
0~10 1.600 | 100"k 10.896 40.0 4.358 |(DEFME 623 34.6 H=6.385F
WEL 3.348 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 16.7 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 |93 0 0.0




Z“EEXAN—F(BEHE) I

*2 LyhEIRELT D

A=CADHIE
M-1 FHESTH EFR MBI O (EIE#HEA= 1182 m’]
[1ARYYTAE Qs= 1,663 (L/A)]
[(BIAXH n = 12 (K)]
1AREY 1EHY
&R FEAE | HOEAE | HBER Hill FLEF P FEAZE | EARR | WY | IR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE MED) as=18(L/%}) T +T,
Lo N{E L o v A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)] T,(5) | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(RH)
5.714 4.300 10| 50.826 19.958 14 26.5 1,663 924 2.8 136 5.6 2.1
0~ 4 2.100 24.822 385 9.556 |HEiTSED. 796 442
L 2.100 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&HRAEAT. 4.0 8.4 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E k%, 0 0.0
0~10 2.200 | 100°%K & 26.004 400 | 10.402 |DEERS 867 48.2 H=6.385F
WEL 3614 | 10~30 0.000 1.35 0.000 320 0.000 5.0 18.1 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 |93 0 0.0




—EEAN—F(BEHE) I *2 LyNEABELT B

A=8.090 X 6.049—5.090 x 3.049—2.640 x 1.400

M-2 ESEITHT BIEEERD [EIEEA= 2972 m’]
[1XRZYEAE Qs= 1,752 (L/XK)]
[EIAEH n = 30 ()]

1AREY 1EHY
&R FEAE | HOEAE | HBER Hill FLEF P FEAZE | EARR | WY | IR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE mZY qs=18(L/%}) T +T,
Lo N{E L o v A Vi A BRI | a* 7 %Ly | V*1000/n| Qs/ags Yoy, | T+ T 60%H%2/Ts| n/N
(m) (m) (m® (%) V(kL) T | v/ m)| T4 | Qs(L/A) | Ta(9) T(5) Ts(4)) [ NG&/B)| D(R)
5977 4.500 1.0| 133.740 52.560 14 278 1,752 97.3 3.0 142 5.3 5.7
0~ 4 2.100 62.412 385 | 24.029 |HEHFSED. 801 445
L 2.100 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&HRAEAT. 4.0 8.4 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 (BRE k%, 0 0.0
0~10 2.400 | 100"k 71.328 400 | 28531 | (DR 951 52.8 H=6.385F
BEt 3877 | 10~30 0.000 1.35 0.000 320 0.000 5.0 19.4 0 0.0 7 ,=2.0(43/m) E9%
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 |&1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 |93 0 0.0




Z“EEXAN—F(BEHE) I

*2 LyhEIRELT D

A=1(2.640 x 1.400) x 1.877+-2.108 $#4TH

M-2 ZIZ T4 BB (EIE#HEA= 329 m’]
[1RLYEAE Qs= 693 (L/A)]
[EZAR#E n = 4 (F)]
1AREY 1EHY
&R FEAE | HOEAE | HBER Hill FLEF P FEAZE | EARR | WY | IR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE MED) as=18(L/%}) T +T,
Lo N{E L o \ A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)] T,(5) | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(RH)
7.794 2.108 1.35 6.936 2.773 14 488 693 385 11.4 113 6.7 0.6
0~ 4 0.026 0.086 38.5 0.033 #&MFEEN. 8 0.4
L 2.809 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&HRAEAT. 4.0 15.2 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E k%, 0 0.0
0~10 2.082 | 100°%kH 6.850 40.0 2.740 |DEEME 685 38.1 H=6.385F
WEL 4985 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 33.6 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 (¥ % 0 0.0




Z“EEXAN—F(BEHE) I

*2 LyhEIRELT D

A=5.090 x 3.049

M-2 EZEILHT KRR [ET@EFEA = 1552 m?]
[(TALYZFAZE Qs= 621  (L/K)]
[EIA% n = 16 ()]
1AREY 1EHY
&R FEAE | HOEAE | HBER Hill FLEF P FEAZE | EARR | WY | IR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE MED) as=18(L/%}) T +T,
Lo N{E L o \ A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)] T,(5) | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(RH)
5977 1.600 10| 24832 9.933 14 27.8 621 345 8.8 85 8.9 18
0~ 4 0.000 0.000 385 0.000 |t&HHFEEN. 0 0.0
L 2.100 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&HRAEAT. 4.0 8.4 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E k%, 0 0.0
0~10 1.600 | 100"k 24.832 40.0 9.933 (D EFMAE 621 345 H=6.385F
WEL 3877 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 19.4 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 (¥ % 0 0.0




Z“EEXAN—F(BEHE) I

*2 LyhEIRELT D

A=3.662 % 0.50
M-2 FIE T H10 (EITE#HEA= 18 m’]
[1ARYYTAE Qs= 1,326 (L/A)]
[EZAR#E n = 2 (F)]
1AREY 1EHY
&R FEAE | HOEAE | HBER Hill FLEF P FEAZE | EARR | WY | IR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE MED) as=18(L/%}) T +T,
Lo N{E L o \ A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)] T,(5) | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(RH)
4727 3.700 1.0 6.771 2.651 14 215 1,326 73.7 2.1 11 6.8 0.3
0~ 4 2.100 3.843 38.5 1.480 |HEHFEED. 740 411
L 2.100 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&HRAEAT. 4.0 8.4 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E k%, 0 0.0
0~10 1.600 | 100"k 2.928 40.0 1171 | DB 586 32.6 H=6.385F
WEL 2627 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 13.1 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 (¥ % 0 0.0




I & T HREME
# B~ I
T fl~2) (gD
Bl Al = HAL &
(L~13) (L~14)

HHLEME T (i H#5E As 5-10-10)
ERAE R As t=5cm m 25
i L R AR AP As t=5cm m? 12
X TR AL B AsHTZ m? 0.6

HHEEIE AT (HEHE As 5-10-10)
TE R RC-30 t=10cm m? 7.1
- JE A RM-30 t=10cm m? 7.1
*E F/ESAs  t=5cm m? 12

L ESESuN (EEHIE As 5-5-5-10-15-20)
ERAE R As t=25cm m 24
B2 IR A e As t=25cm m? 18
X TR AL B m?® 4.6

HIEEIR T (EBEHLE As 5-5-5-10-15-20)
TE R RC-40 t=20cm m? 13
- JE RM-30 t=15cm m? 13
e A FAEASZ LR t=10cm m? 18
HJE FAEMAs t=bcm m? 18
W] g FAMASPWE D t=5cm m? 18
eI PUEAsII t=5cm m? 18

(E SN ([EiE 4515 IRB 6-3-10-5)
B —ayX s T ay s | B t=6cm m? 22

LHE - ([EiE 4515 IRB 6-3-10-5)
TANH—JE i t=5cm m? 22
HeAx RC-30 t=10cm m? 22
B —h m® 22
b m® 0.9
A B—X T Ty IR E t=6cm m? 22




f+ % L 3%
%  HO~L1) (=g
T F(L~Lr2) A T
&l ool W HAT &
(L1 3) (L~14)
X T T il 2 X H &35 W=15cm m 1.7
H &35 W=45cm m 2.6
HEWAHEMEE T PEKAE S i ¢ 300 m 2.6
SHEER T Y /#E m 3.5
EEAEWEIR T BEGEBE R T ay s m 3.5




O T (W E HEE) KR E TR (1/2)
T8 HiE As 5-10-10
fl 1] 0 H B E X B | % B
EAERR O M-138 43 BT L= 11.00 m + m + m + 11.00 m
t=>5cm Al _E SRR L= 3.40 m + 3.40 m + 3.40 m + 3.40 13.60 m
L= m + m + m + m
L= m + m + m + m
W BB SL= 24.60 m m 24.60
MBI TR N\ABISEECBASATWS, FOHRERZH3.2-2 577, B
B+0.2(m) DWEREHRTSNABRK =2 U — v ¥ 2 AR D,
ZORBIEADB LUy ZR Yo b DR UilET 5,38, 2— 4 IR OBl 2R+,
%£3.2—-4 FERL (BEH)
FECE (D) | GIAESR (m)
1500 6.0
1800 7.0
2000 7.5
2500 9.5
3000 11.0 EEFEE%
L= (D+0.2)tan{22.5° ) X8(m) 920114 S7HiiR P.83
2 R M- 1587 5T A= 3.40 m X 3.40 m 11.560 m*
t=5cm A= m X m m?
A= m X m m?
A= m X tan ° X m X m?
YA= 11.560 m® | m® 11.56




% T (hE =8 ) % EEE R (2/2)

738 HE As 5-10-10
& il i H A E 20 WAL | M &
AL ER V= 11.560 m® X 0.05 m = 0578 m’ | m’ 0.58
i M- 13T 5T A= r /4 X 3.00 m2 = 7.069 m°
t=10cm A= = m®
A= — m2
A= — m2
A= 7.069 m° | m”’ 7.07
# g M-1FHE ST BT A= SRR [ = 11.560 m°
t=5cm A= = m®
A= = m®
A= = m®
YA= 11.560 m* | m° 11.56




oA T O(FH B H E ) XK & HE X (1/2)
ESPER:REE As 5-5-5-10-15-20
fl 1] 0 H B E = B | % B
EAERR O M-2Z =L L= 1.81 m -+ 500 m + 402 m + m = 10.83 m
t=25cm A | B = 2.25 m + 5.90 m + 485 m + m = 13.00 m
L= m + m + m + m = m
L= m + m + m + m = m
W BB Sl= 2383 m | m 23.83
MBI TIENATRTRPEEZCBRASh TS, FORER®E 3. 2-2 27T, BU
B+0.2(m) DWEREHRTSNABRK =2 U — v ¥ 2 AR D,
ZORBIEADB LUy ZR Yo b DR UilET 5,38, 2— 4 IR OBl 2R+,
%£3.2—-4 FERL (BEH)
FECE (D) | GIAESR (m)
1500 6.0
1800 7.0
2000 7.5
2500 9.5
WFEUME +0.2(m) 3000 11.0 A1
Ei2—2 NEEYWRERR L= (D+0.2)tan{22.5° ) X8(m) 920114 S7HiiR P.83
S R A M-2%) 37 5T A= (CADHIZE) = 18.260 m°
t=25cm A= m X m _ 2
A= m X m = m?
A= m X tan ° X m X = m?
YA= 18.260 m® | m® 18.26




WM T O(E E # 5 ) ¥ EHEE R (2/2)
ESPER: BT As 5-5-5-10-15-20
i Al il H i E = WAL | M &
XL V= 18.260 m® X 0.25 m = 4.565 m’ 4.57
FAE M-2F ZE 35T A= (CADHIE) = 12.900
A: =
A: =
A: =
YA= 12.900 m” 12.90
EIEIETAN M-2ZIEENZHT A= B RRURB R & R U = 18.260
A= =
A= =
A= =
YA= 18.260 m” 18.26




O T O (HE & B ) % & ETE (1/2)
ESPERSTE IRB 6-3-10-5
fil il il H B E X HiL | K &
S s —ayFr s Ty s | FE (CADHIE) = 22.100
t=6cm m X m =
m X m =
m X tan ° X m X =
SA= 22.100 m? 22.10
TAVE—)E 1% (CADHIE) = 22.100
m X m =
m X m -
m X tan ° X m X =
YA= 22.100 m? 22.10
A (CADHITE) = 22.100
YA= 22.100 m? 22.10




oA T O(FEH B 4 B ) % & HE X (2/2)

ESPEEE S| IRB 6-3-10-5
i il i H A E 20 WAL | M &
AR —h A= (CADHIE) = 22.100 m’
A= - m?
A= - m?
A= - m?
YA= 22,100 m° | m° 22.10
e V= 22.100 m* X 0.03 m X 1.29 = 0.855 m’
V= — m3
V= — m3
V= = m®
V= 0.855 m*° | m’ 0.86
Mo B —ny¥R 7Ty kiR A= (CADHIE) = 22.100 m®
A= = m®
A= = m®
A= = m®
YA= 22100 m* | m° 22.10




f+ % T % & 85 & % (1/1)

i Al gl H B E A HLAL &
X iR T
TR R X R F {498 W=15cm |L= 1.7m  + m  + m  + m = 1.7 m m
F &5 W=45cm | L= 2.6 m  + m + m  + m = 2.6 m m
E AT E i T
PR S ¢ 300 L= 2.6 m  + m  + m  + m = 2.6 m m
HRHGESE SR T ay I L= 35 m  + m  + m  + m = 3.5 m m

B EWEIH T
SHERER T vy L= 35 m + m + m + m = 3.5 m m




HP ¢ 1000 4.5%o0 3. 50m

HEIHEX

(§=1/100)

HP @ 1000 4.5%0 135. 85m

1.100

ERIER=134. 000m

1. 500,

HEEESE R=132. 820m

="
J R

¢ §
of o
oA
EI .
{u #
e 3

M-0 BEE%5E KHE

M-2  EBIEIIH
(3049 x 5090)

(¢ 3000)

SM2FE AH£TKEEE FEK)
T % 2| PNEMAERAEFRIE -1IR)
THEH =RW BE=TH
HEES | & R | 1/100

HEEE T ER

= K’ w™




A AH#ETRFZKBER

(8=1/50)
T m M
M-0 7&/K+E (BEER) @
I~ ™
I S
L4
HUE ¢ 30
& H-250x250x9x 14 FEHROT
[=1800 n=2 , (6 1000mm)
Vi X
| l | \ HAZ8B7 18 H-200 x 200 x 8 x 12
e | 1| 1=2350 n=2
il \
T
N
" HB H-250 x 250 x 9 x 14
RN ;;// L=2350 n=2
8
(32}
Z i avHy— FXEE
@ (18-8-40BB)
1815
FE U ¢ 3000 FEUE ¢ 3000
v 2.27 v 2.27
7 A7
2350 390 .
Htz$BZE 8 H-200 X 200 x 8 x 12 1 vy y— hRER |
[=2350 n=2 ' (18-8-40BB) .
et HP 1000 | etk |HP 6 1000
v-1.578 ff | | . Hiig S5 4 H-200 x 200 x 8 x 12
. 3 [=2350 n=2
v-2.078 , 2 v Z& H-250x 250 x 9 x 14
o o = [=1800 n=3
= =) 1 /= 52 _
“ V-2.740 | _ = = : T+ ﬁ{l;:vgsg zggzx 250x 9 x 14
24 H-250x 250 x 9 x 14
HisZ H-250% 250 9 x 14 L=1800 n=3 994
L=2350 n=2 1550
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